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Section : Quantitative Aptitude

Q.1 InA4BC, AD is a median and P is a point on AD such that AP : PD =3 : 4. Then ar(ABPD) : ar(A4BC) is equal to:

Ans X' 1. 4:7
v22:7
K32:5
X41:3

Q.2 The difference between the compound interest and simple interest on Tx at 7.5% per annum for 2 years is T45. What is
the value of x?

Ans 1. 9,000

W 2. 8,000
< 3. 7.000
< 4. 10,000

Q.3  The table below indicates the percentage of students and the ratio of boys and girls in the various streams of a college.
(Total students = 2600)

Stream CE cs IT ME EC
% Students 20% 18% 21% 22% 19%
Boys:Guls | 3:2 4:5 3:4 6:5 9:10

What is the ratio of students studying in CS and IT?
Ans X1 11:13

v26:7

X3 17:13

X40:11
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Q.4 A is 40% more efficient than B and C is 20% less efficient than B. Working together, they can complete a task in 20
hours. In how many hours will A alone complete 35% of that task?

Ans X 1. 14
<213
X3 15
v 16

Q.5 The table below indicates the percentage of students and the ratio of boys and girls in the various streams of a college.
(Total students = 2600)

Stream CE Ccs IT ME EC
% Stud, 20% 18% 21% 2% 19%
Boys : Girls 3:2 4:5 3:4 6:5 9:10

‘What is the ratio of boys and girls in the college?

Ans o 1 11

5:6
K3 7:8
6:7

Q.6 Inaclass of 40 students, 45% are girls and the remaining are boys. If the average of the girls® marks is 54 and that of the
boys is 46, what is the average of the whole class?

Ans X' 1. 49.5
X2 498
V3 496
X4 497

Q.7 The table below indicates the percentage of students and the ratio of boys and girls in the various streams of a college.
(Total students = 2600)

Stream CE cs IT ME EC
% Stud 20% 18% 21% 2% 19%
Boys : Girls 3:2 4:5 3:4 6:5 9:10

If the data about the number of girls enrolled in the various streams is represented by a pie-chart, what is the central
angle of the sector representing the number of girls in the ME stream. to the nearest whole degree?

Ans J1_ 770
< 2. 70°
< 3 68°
X 4 740
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Q8 The value of cot?62° — sec?28° + cosec?30° + tan?60° is equal to:

Ans 16
1, =
x 3
. 10
2 i
X 3
V36
<48

If cosec 8 = E . then sin 8 + cos 6 — tan@ is equal to:

Ans 71

F !

65

ve— =

&5
139

X3 —

65
91

Xa 2

65

Q.10 An article is sold for T1,680 after two successive discounts of 20% and 16%. What is the marked price of the article?

Ans X 132,200
' 2 32,500
X 3 32,300
< 4 32,400

Q.11 The radii of the two circular faces of the frustum of a cone are 5 cm and 4 cm. If the height of the frustum is 21 em,

what is it volume in em®? ( - ?)

Ans  of 1. 1342
< 2 902
# 3 1056
< 4 638
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Q12 The value of:

72+(84 +0.12 x0.2)—5x3 +-0.05+3
Ans X' 1. —758

2 —2758
K3 212
<4 —1758

Q.13 Ina circle with centre O, AB is the diameter and CD is a chord such that ABCD is a trapezium. If £ B4C =18°, then
£ CAD is equal to:

Ans x1_ 18°
2 540
< 3 36°
X 4 720

ate If(a+b) =6andab= ?, then (a® + b?) is equal to:

Ans X 1. 220
v 2 120
< 3 150
< 4190

Q15 Tfa:b=2:3andc:b=5:6,thena:b:cisequalto:
Ans  X'1.10:15:18

<26:9:16

X36:9:12

vid:6:5

Q.16 A4BC~ APRQ and PQ =4 cm, QR = 7 cm and PR = 8 cm. If ar(A4BC) : ar(APQR) = 1 : 4, then AC is equal to:
Ans X' 1. 1cm

X< 2 4em
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/<3 37cm

\f4- 2cm

Q17 1fa+b+c =6andab+ bc +ca =4, thena® + b* + ¢ — 3 abc is equal to:

Ans X' 1. 148
v 2 144
< 3 154
< 4160

Ans X1_

30°

- 28
- 20°
.

Q18 1fsing = cos(50°+ 8), then 0 is equal to:

Ans (1_
X 2
X 3
X 4

10
12
8
6

Q.19 A train without stoppage travels with an average speed of 72 km'h and with stoppage, it travels with an average speed of
60 km/h. For how many minutes does the train stop on an average per hour?

Stream CE cs IT ME EC
% Students 20% 18% 21% 22% 19%
Boys : Gurls 32 4:5 3:4 6:5 9:10

Downl oaded From : http://sscportal .in/

In which stream, is the difference in the percentage of boys and girls minimum?

Ans (1_ EC
< 2. ME
X3 CS
X4 IT

Q.20 The table below indicates the percentage of students and the ratio of boys and girls in the various streams of a college.
(Total students = 2600)
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Q.21 Two chords AB and CD of a circle when produced, meet at a point P outside the circle. f AB=6 cm. PB=5cm, PD =
4 cm, then CD is equal to:

Ans o 1. 9.75cm
< 2 7.75cm
<3 7.5cm
< 4 825cm

Q.22 Two articles are sold for T5,104 each. On one, the seller gains 16% and on the other, he loses 12%. What is his overall
gain percent, nearest to two decimal places?

Ans X' 1. 0.14%
< 2 0.12%
v 3 0.08%
< 4 0.10%

Q.23
Ifﬁ—j—; =6, then x® + — is equal to:

Ans x1. 40
<2 54
v 62
< 4 66

Q.24 The price of sugar is increased by 17%. A person wants to increase his expenditure by §% only. By what percent should
he decrease his consumption, nearest to one decimal place?

Ans X' 1. 7.9%
< 2 8.1%
v 3 7.7%
X 4 8.3%

Q25 1f the six digit number 4x573y is divisible by 72 then the value of (x + ¥) is:
Ans (1_ 3
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<309
X4 6
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